a9l au,ell asl____owll
ayg,8llg @aldl uggwil 8,159
8a> abdlwo WL ol

ailol

o Jnlin < l—*-’ Cl_.a_>) N
> )lao]
1445/ ,4.0/20 g Mo 1442/,8.0/21 SwoWl 4200031579 aas )l pd,
Lall 2u,U Lall p3, J=xadl pd, Azl w>lo puwl plamdl
1442/ 520/28 420218020056 1000972685 ‘5“‘(‘,‘?5'0‘7’5”295‘55”‘;5 jf;‘: W cliy aas,
wo LVl Lo e, Ll puwl wdl asbsall ps, blazxoll pd, W\Sg,3l pd, &Ll
900 ity =l i/193 w/e/83 4200033072 a,cill aub
oz Lo JS ellolly sewnipdl wuSall (sde @ojlo s &g SVl @loleall 83,l9) wlipsil geom sl Vi >S9l ap=dl
o ppideiine o puisis wlipeil g (sle el gMb) 8,90 dwaipll LilSoll gax sles
> 59 .ol 5, lyml el labzny 853zl oS)lmedl Jssll aud (899 oSl Jsell dgains olVl 2 195,8,a2hall 012,30dsky | Jlasin

2LV, oyl polandl gl (oo 0sS5 cailiadl ©lp=ls EuSs (83 doaiiwnll peaialVl 2loll S5
oluoll wlasise Sy 9 daua> &)l gl AuSw ba>9 JSI Jasio oleo slas Sy

5.20 194,08 azkhill 0a= p30doly | (§ miad]

2 1918, a2kl 0% £30dsky | Lguzdl

5.30 £16us,c &,Li 0= p30Jghy ol

Ol luadl Wdlgog wla>gll dacy wl>Luwoll $S9,S) Gllas

el A T8~ (S
dalua xS dalua xS dalua S dalua K
461.91 3 30.45
431.46 0 0
166.14 2 0 0

ol o o]

o
o

431.46 3 ) @ 2407750.3114
431.46 0 Js i
166.14 2 el obs )

o
o

o

524868.3106

Sew gl GasSoll

obliwl (sloge Aze Jsle

O uisol| Sl

obliswl (sloge Axe Jsle

Aoz ,ll poaw, Aosd

153.5310 wlalxoll @uos A>gs V sbyps)l W9, dac 6 @dlgall sac 3150.38

e 120 | USRI S, 15Vl 38a0Jl

5| wlaxgll dae waxall sble (sagllace Jdsle

2| SlesVl sae awlyl yurigo

G0l sl alilaue plac

dousoll

wloge Juo> axe Usle

:Lu.” uo>) 6)')' PYAY]

Syl L 20l gyee . 0

bguinll 04D aule s loy 1l Wlall ey aas )l 04D oo iz ¥ ejor clid] Aoz 2ogai wals Aigrall dolall bg il juisi
! sl gindo e g



